A5 S 3

‘5‘: = ; :‘/ \ ‘ 7 \: S E‘/ih O r e

E dition

Algebra 1

Answer Keys

Topical Review Book Company







TEST 1

Part1
1. 3 5 2 9. 4 13. 1 17. 4 21. 4
2. 4 6 2 10. 3 14. 2 18. 3 22. 1
3. 3 7. 1 11. 3 15. 1 19. 3 23. 2
4. 1 8. 2 12. 4 16. 4 20. 1 24, 1

For parts 11, III, and IV, partial credit should be given for answers that
include, but not limited to, the following;
- correct answer, but no work shown
- incorrect answer, but rest of work is appropriate
- appropriate work is shown, but one computational or rounding
error is made

Part II
25. $14
26. 2x(x + 2)(x — 3)
27. A point in the shaded region is stated along with justification.
28. x=-4,2
29. 17
30. Yes, x =—1land y = -5 are the solutions to the equation 3x -2 =—x—-6
and work is shown for the check.

3. i=2)=11
32.fix)=(x-12+7
(1,7)
Part 111
33. o
-+ A point in the shaded region
: Y of the graph is stated.
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34. a) 205 pounds  b) 3 pounds  ¢) 15 months
35. a) 4 years b) y=4Q2)
36. Box Plot of Ages

— |

10 15 20 25 30 35 40 45 50 55 60 65

A
A

Part IV
37. Solution (1, 1) and/or (1.5, 1.25)



TEST 2

Part 1
1. 2 5. 4 9. 3 13. 1 17. 2 21. 4
2.1 6. 2 10. 3 14. 1 18. 3 22. 2
3. 2 7. 1 11. 4 15. 3 19. 1 23. 1
4. 3 8. 2 12. 2 16. 3 20. 2 24. 3

For parts II, III, and IV, partial credit should be given for answers that
include, but not limited to, the following;
- correct answer, but no work shown
- incorrect answer, but rest of work is appropriate
- appropriate work is shown, but one computational or rounding
error is made

Part 11

25. y=3x+5

26. [0, o] or equivalent explanation
27.2(x - 1)(B3x+ 1)
28. $7,280

79 3(b+4)
T b+2

30, 2x* =X -2 +2x -4
31. h(-2)=-4
32. 210 chairs for guests
Part I1I
33.a)25+8x <11+ 10x or 11 + 10x > 25 + 8x where x is the month
of the year
b) August — December (x > 7)
34.a) 16 4
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b) y=3x-1




35.

36.

37.

An appropriate graph is drawn

such as the one to the right: gg
~10 <x< 10,100 <x < 100 70 /
The graph is labeled appropriately. — ?8 /
Function Rule: y = 3~ é 40 /
or equivalent equation 38 /’
10
SR > 3 4

a) y=2.85x+38.89
b) correlation coefficient » = 0.95

¢) The correlation between the linear regression equation and the data is
good as = 0.95. If the correlation is good, the correlation coefficient
is quite close to either 1 or —1. 0.95 is very close to 1.

Part IV
a) fih) =25+ 9.50h
b) 0 < h <20 is the domain

¢) Appropriate graph and scale are drawn.



TEST 3

Part 1
1. 2 5. 4 9. 2 13. 3 17. 4 21. 4
2.1 6. 3 10. 3 14. 4 18. 1 22. 2
3. 3 7. 3 11. 2 15. 3 19. 3 23. 3
4. 2 8. 4 12. 1 16. 1 20. 2 24. 2

For parts II, III, and IV, partial credit should be given for answers that
include, but not limited to, the following;
- correct answer, but no work shown
- incorrect answer, but rest of work is appropriate
- appropriate work is shown, but one computational or rounding
error is made

25. 4,096

26. {-9}

27. 2+ X3+ Ixr+4x -4

28. {~16} or (0, -16)

29. flx) =22x — 45 or equivalent function

30. A(d)=d*— 71(% d)* or equivalent function

Part 11

31. x=-2, 10; a method is chosen with an appropriate justification.

32. a) “T T T T T T T T 1T T T 1
50 60 70 80 90 100
b) median grade is 85

Part II1
33. @) y=9.48x+31.52 b) $268.52
A
34. €
< i B P e
35. 4 x-intercepts: (-5, 0),(~1, 0)
/ \2 y-intercept: (0, —5)
b t Vertex is a maximum: (-3, 4)
73 -4 - D - 4
/ \
/ 2\
/ 4
36. a) C(d)=1600 +0.10d b) $2000 c¢) They would make $400
Part IV
37. 2 / 3 is the average rate of change.
<THh5d r T3
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Part1
1. 1 5. 1 9. 3 13. 3 17. 4 21. 4
2. 4 6. 4 10. 2 14. 2 18. 1 22. 4
3. 2 7. 3 11. 3 15. 3 19. 3 23. 1
4. 2 8. 2 12. 3 16. 2 20. 1 24. 2

For parts II, ITI, and IV, partial credit should be given for answers that
include, but not limited to, the following;
- correct answer, but no work shown
- incorrect answer, but rest of work is appropriate
- appropriate work is shown, but one computational or rounding
error is made

Part Il
25. A correct graph is drawn.
Example: [ 77 HHE
N o x
= | ! 0 -l
= e e e
= I B = & 14
o =8 1 94 2
T

26. Correct explanations are made, such as 0.5 is the rate of decay
and 300 is the initial amount.

27. 2, and correct work is shown.

28. (4, -1), and a correct explanation is given.

Example: .
ko ;mphlé BUO e 3&) whith 05 (x-2)"= 4(x-z) +3
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29. A correct graph is drawn, no, Example

and a correct explanation that u |

is based on the graph is given.

No, it doesn't Tl on H‘\l;mrk

30. Yes, and a correct justification is given.
Example:

Yes Wt cap becavse w a Functim ol
nombees 10 e domaln Wust lend %u'a setf-

Speci€ic yombe in Yhe rovpe, Mcamng
sne Quabel 1 e UMdin canet hoe wo

gieforent nombees 1o e Yonge,

31. (@*+ 7)(x + 1)(x — 1) and correct work is shown.

& =0

32. A correct box plot with Min = 1,Q, =2,Q, = 3,Q; =4, Max = 5 is drawn

W)is 1. ‘SI. ;),5,95,‘}3@3, 3509 4.5, £)

Part I1I
33. m(x) =x? + 10x + 16 or an equivalent trinomial equation and —8 and -2,
and correct work is shown. ™
_xMriox &

(331X 3K+ Cix® 1) = M) m(x) = DX+X"+ ZZ

Ax~3x%=3+ Ix+ Hx>+ I3 = m(x) 0 = (x+8)x+2)
I X+§=0 of %4230
10x +x™r 22 = mlx) & 8 iy T

T
C X=-F X=-2 )



34. (12 + 2x)(16 + 2x) = 396 or an equivalent equation, a correct description is
given, and correct work is shown to find 3.

It isthe Ie-\3+h Plus the Walkway x vyidth Plus the wﬂ?'Kwag

(D‘f“«ﬂ)(;xf';)=3?b At+|T7=e X-3=0 The width of
er:"-Sax tax +190= the wolk
=390 =~ e
Hx? 45 lox-g04 =0 ¢ FaoIL S S 2 meters

X Yx-5] =0 T e
{x+n‘}x(_x~3)1o W
35. A(n) = 175 —2.75n, correct work is shown to find 63, and a correct

explanation is given.
0= I726§-2.2%n

2.5 n= 25

She con woatdh Por (03 weeks
because of the (4™ week She
Won'+ howve -Qhoq;gl\ mone,f 1o
n=63 6363 font & mMovie
36. 2.35¢ + 5.50d = 89.50 or an equivalent equation, no, and a correct
justification is written, and correct work is shown to find 10.

2.35 8 <= )8.8
c.se-4 = 77

"

€.§+77=95§ So it isnt True

2.35c ¢ $.50d = 89.50 Bl Rt
235( e+ d=22 ) C+lz=2LT
~2.35¢ §-2.359 = 5170 T
3usd= 378 10 » cots
d= 1z
Part IV
37. Both functions are graphed and labeled i : e Wl L
correctly, 3, and a correct explanation | ' 7
is given, and site 4 and a correct 40 A
P = i)
justification is given. Example: § A [psies
3 I
s i
3 ' i
E 20 j,
i
8
10 P
¥ l/ + ::
= i mm 99

1 2 3 4

Number of Products
{hundreds)
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Part1
1. 1 5. 4 9. 3 13. 2 17. 1 21. 4
2. 2 6. 2 10. 3 14. 4 18. 4 22. 2
3. 3 7. 1 11. 1 15. 1 19. 4 23. 2
4. 3 8. 1 12. 3 16. 2 20. 1 24. 4

For parts II, III, and IV, partial credit should be given for answers that
include, but not limited to, the following;
- correct answer, but no work shown
- incorrect answer, but rest of work is appropriate
- appropriate work is shown, but one computational or rounding
error is made

Part II
25. 4 and 6, and correct algebraic work is shown, such as factoring.
. — T —
Example: . o wius eFb )
’—@‘ /
¥ ] oe | b4
- = _F
felsl

-

26. B=3000(1 + 0.042)' or an equivalent equation in terms of B and # is written.
27. 18,000, and correct work is shown.

Example: ge + % B AR +0.0a5%
ple: &= {m% £ g T

185+ .0psy 4 2

T 1es s ﬂﬂ?a,
«00Sy = 90
N Elew

28. 2x* + 17x* + 25x — 50 and correct work is shown.
Example: (3@5}
i 4,'55'-.*-";-0

2.“3 +..1"} _\a-.;‘+\m

3&43 it nx') 4-9'5&’-"50

29. g(x), and a correct justification is given.

Example: ik (L6 Nk Tt
P < s 20%)
% T ==y

glx) s -4 () u(e) -3

= Th(le) vt

= - riL+d

= "

max @ (0



30. 6, and correct work is shown. {2, 5.5
»rqe-_sx-s

ng. 2}"%

z;- %
75&»1 Gimlest pessible vaut=b

31. A correct plot is drawn, poor fit is Residual
stated, and a correct justification ' i
is written, such as stating that a -
pattern is formed.

Example: -

babs S5 poceo e we |EEnm

W

g Neon Latlaeies «Kw\s

- ] u
32. 9, and a correct explanation is written. I
car (%)t L3) e NGLECE C IS darmined
(=g Y 10KNG #e “" ¢, cIa 14 2, Hu?n Scbwnnq

Part 111
33. A correct graph of f{x) is drawn. A correct relationship for g(x) is described,
such as g(x) is two units below f{x). A correct relationship for A(x) is
described, such as /(x) is shifted 4 units to the right of f(x).

. ‘E@f o A

'}&\% T \,-'\ i 3 }f I.!__’» ] %mk DY sl e ase poles belons
e ] Il A :__L._ %‘(Q%\(\ K}\
TP ALE 1 1':.___
N _____\_. I
EEL AR
e -—t 1 1] aor ) ) \. N \
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b
34. ZA_hMQ or an equivalent expression and 8, and correct work is shown.
' L}
Example: Eﬁ‘ﬁ[b»*bﬂ b= T‘b!
o A 260)
A o 0 i
'h bty /
T 10
Y -1
20 gt



35. Both functions are graphed correctly, and —2 and 1 are stated.

L A2
HE 1 -1 z
A ¢ b=
Ty
Fi
1
£
i Fa = ]
S iy =
o T 2 5 -} N E = &9
T'L/
iB/A|
LA 11
Tdrl 11 LN NE!
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A 1
£
V‘l \f

36. 60 and 100, and correct algebraic work is shown.

. Xt4p A G0+ 4D £ (DO
[@)+| A= bovoy’

% %yo) = OO0
W& 4 ok = (6000
e [rYelas]
W Lo — 60D = O
(% + (00 )| (k=60 )
=] O
m
(e
Part IV
37. x +y <15 and 4x + 8y > 80 are stated. Both inequalities are graphed and

shaded correctly with at least one labeled correctly. A correct combination
of babysitting hours and library hours is stated.

e X "\“’K 415 g’ B = I o
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Part1
1. 2 5. 3 9. 4 13. 3 17. 4 21. 1
2. 2 6. 2 10. 2 14. 4 18. 3 22. 3
3. 4 7. 1 11. 4 15. 3 19. 4 23. 4
4. 1 8. 1 12. 2 16. 1 20. 3 24. 1

For parts II, I1I, and IV, partial credit should be given for answers that
include, but not limited to, the following;

- correct answer, but no work shown

- incorrect answer, but rest of work is appropriate

- appropriate work is shown, but one computational or rounding

error is made
Part I1

25. Correct, and a correct justification is given.
Example: ) A

AT, cE & ent( t_'r_'ﬁ_‘-

T
L]Ll ‘s rabeal. Ja s e/
I
/t fainal e P F"u's
@ vrr {I-;:c-“ﬂ; b

5‘|./,\Jrs CS-\““ sfjed

- 1 1|
th AR S L

26. 25%, and correct work is shown. Example: zz+i2=45

15 - .25 =‘7! 25% l

120

27. (-4, 1), and a correct explanation is given.
Example: T (-4)) i odded i the teblefhen e relotion hadd no foger
be a Rdenbecaese you can't hove one i Wi &0
different oxputS,
28. —2x2 + 6x + 4 or equivalent trinomial, and correct work is shown.
Example: 24> . qx 7
+

B¢ 1K 41
-2 pex + Y
29. 3— and ——, and correct Example: 4™ .y @( *I?l{[v =0
="1=h PR Y- 1”|
algebralc work is shown. U - 1A -1~0 e Yy T

(et Y Ay -0

qm %-‘1“ 2

'@5;\, )
; 1. LS
=B |




30. A correct graph is drawn. )

31. 12 or 2.4, and correct

) ) Example: /gf X~ pumbr of yars
algebraic work is shown. ot ofd) )hoYe For eoch

Tree be/.-]-p.p tamp hEREN
Bémc + 15ix = Ug, + 18
1 -L&

Sax= m
.

32. y=0.25(2)" or an equivalent
equation is written, and a correct
explanation is given.

-

"""--..-.%_‘*

AK
Example: Y= J25% d

- W s ®m %O

L

G0 R =

D= oW

] : domains -5 (x)
I Jﬁ ‘H\IS Ly +ﬂ-k|n -H\e’ y 'VO‘U% O‘F He .
ond pdﬂ‘"!s Pem ek m';.j codedotoc Then L USed E*FRff und
STATISTECS M} @J ‘Hw‘i‘ {‘;‘m



Part II1
33. A correct system of equations is written, popcorn = $5.75, drink = $2.25 and
correct work is shown.

Example: (e 20 1§.25-2 @
.1.

+24_ =250
A= e 4F+ 4.8 =275
X - 4o = 23

Ym FE D

34. y > 2x — 3, a correct graph, and disagree, and a correct explanation is written.

Example: % = H -
B o B g ¥ I ay
S e
4 Pl |,
b) w+dy < gbn_z«t o e
Q\f LM-x SN /
-1 A
N S SRS AN
KAATAY 1

€) T disaqree with Oscar ON\e & pould
reke TqE - dnae (1220073) He
othe  cant e On .JE:‘E'-.LE ne of
d a5
35. 0.94 and a correct explanation is written.
the line is a Sewd M ode[ whith
Slhows  #& Fhe Calanas Tnerease
G does Mo milligrams of Sabun
36. Maximum is stated, a correct explanation is written, and f{x) = —(x — 4)* + 25,
and correct work is shown using completing the square.
a) \y—v—ﬁ-ﬁﬁq

orFR ik reprEsenys 6 WO pord-he e Fupcinon
E&B& :ri, Tunerion 8 Megariie as ol @ by v,
— 3% Thaseore wWe Lo WO rie povtios\o. S
—"- 7
Apn\o2: Maleing el voftyy o woémmm Ak
Al—on Mantailm,, ff \

b) RNy i
L{)';. e A R
Y= “(‘l'xz—-?)\—ttc:)'l—\h)*‘c\
Ya — (-2 x\exd

Y== \k-"\Y sis G



Part IV
37. (x — 3)(2x) = 1.25x? or an equivalent quadratic in one variable is written, a
correct explanation is written, 80, and correct work is shown.
Example:

Lo=box= L 25K

Wy equat @ madels +the si'][umh'ﬁﬂ bhecause

T shawy 2oy™=b %, theareq of the mew jﬂﬂ}wn‘, VS 125 Finngs lasge
ot Hae grea oF Hhae c}r('j.‘ﬂoif jmﬁ{{n}, /xi‘ with o
!?2{ r\ﬂ He .l‘ghﬂ"’h 0{; n 9.:-4?_, f’-F '\‘L’]{ 0/;3‘:!(]4! S4quare \j‘-’er{V‘L.

> 6= 125" *_((g)=2M64)- 4%
%.ﬁw“-swo 2 (6@

= gb
Y075~ — =06

Z O squave paits

610M5= ¢



